

< 4

المعادلة: $A_1 x^2 + B_1 x + C_1 = 0$

$$y = \frac{n+k}{r^2 m^2 + k m^2 - \lambda n + k} \xrightarrow{*} \frac{r^2 m^2 + k m^2 - \lambda n + k}{r^2 m^2 + k m^2 - \lambda n + k} \cdot \frac{n-1}{r^2 m^2 + k m^2 - \lambda n + k}$$

*
مجموع مربعات = 0

$$\frac{a m^2 - \lambda m}{a m^2 - a m}$$

$$\rightarrow \frac{n+k}{(r m - 1)(n+k)(\lambda - 1)}$$

$$\frac{-r m + k}{-r m + k}$$

$$D_F = \mathbb{R} - \{-k, 1/r, 1\}$$

$$y = \frac{n+k}{r^2 m^2 + 9 m^2 + 1 \cdot n + k} \xrightarrow{*} \frac{r^2 m^2 + 9 m^2 + 1 \cdot n + k}{r^2 m^2 + 9 m^2 + 1 \cdot n + k} \cdot \frac{n+1}{r^2 m^2 + 9 m^2 + 1 \cdot n + k}$$

*
مجموع مربعات = 0

$$\frac{v m^2 + 1 \cdot n}{v m^2 + v m}$$

5

$$\rightarrow \frac{n+k}{(r m + 1)(n+k)(n+1)}$$

$$\frac{-r m + k}{-r m + k}$$

$$D_F = \mathbb{R} - \{-k, -1/r, -1\}$$

$$y = \frac{n+k}{x^2 - r m^2 + r m - 1} \xrightarrow{\text{المعادلة (1)}} \frac{x^2 - r m^2 + r m - 1}{x^2 - r m^2 + r m - 1} \cdot \frac{n-1}{x^2 - r m^2 + r m - 1}$$

$$\rightarrow \frac{n+k}{(m^2 - m + 1)(n-1)} + \frac{1}{\beta}$$

$$\frac{-m^2 + r m}{-m^2 + m}$$

$$D_F = \mathbb{R} - \{1\}$$

$$\frac{-n-1}{n-1}$$

$$b) y = \sqrt{\frac{x^2}{x^2 - 2x + 1}} \rightarrow \frac{x^2}{(x-1)(x^2 - x + 1)} \rightarrow \frac{-x}{+ \quad - \quad +}$$

$$D_f = (1, +\infty) \cup (-\infty, -1]$$

(a)

$$ii) y = \log_r (1 - \log_r^n)$$

$$①: \log_r^n \rightarrow n \gamma$$

$$\frac{0}{0} \rightarrow D_f = (0, 1)$$

$$②: \log_r^n < 1 \rightarrow n < r$$

$$b) y = \log_r (1 - \log_r^n)$$

$$①: \log_r^n \rightarrow n \gamma$$

$$\frac{0}{0} \rightarrow D_f = (1/r, +\infty)$$

$$②: \log_r^n < 1 \rightarrow n < r$$

$$y = \frac{x^2}{x^2 - a|x-1| - r x + d} \rightarrow \frac{x^2}{x^2 - a|x-1| - r x + d} \neq 0$$

$$+ \frac{x^2}{1} \rightarrow x^2 - a|x-1| - r x + d = (x-a)(x-r) \rightarrow x \neq r, a$$

$$- \frac{x^2}{1} \rightarrow x^2 + r x = x(x+r) + n \neq 0 \rightarrow D_f = \mathbb{R} \setminus \{r, r+r, a\}$$

$$ii) \frac{x^2}{|2x+1| - |x+r|} \rightarrow \frac{|2x+1| + |x+r|}{\sum x^2 + r x + 1 \neq x^2 + r x + 1}$$

$$r x^2 - r a - 1 \neq 0 \rightarrow x^2 - r x - (r a + 1) = (x-r)(x+r) \rightarrow D_f = \mathbb{R} \setminus \{-r, r\}$$

DAT.

$$b) \sqrt{12x+1} - |x+2| \rightarrow \begin{cases} 12x+1 \geq 0 \\ |x+2| \leq \sqrt{12x+1} \end{cases} \rightarrow \begin{cases} x \geq -\frac{1}{12} \\ x \geq -2 \end{cases} \rightarrow x \geq -\frac{1}{12}$$

$$D_f = (-\infty, -\frac{1}{12}] \cup [\frac{1}{12}, +\infty)$$

$$c) \sqrt{\log_{\frac{1}{2}}(x-1)} \rightarrow \begin{cases} (i) : x-1 \geq 0 \rightarrow x \geq 1 \\ (ii) : \log_{\frac{1}{2}}(x-1) \geq 0 \rightarrow x-1 \leq 1 \rightarrow x \leq 2 \\ (iii) : \log_{\frac{1}{2}}(x-1) \leq 1 \rightarrow x-1 \geq \frac{1}{2} \rightarrow x \geq \frac{3}{2} \end{cases}$$

$$\rightarrow D_f = (1, 2]$$

$$d) y = \log(\cos x + 1) \rightarrow \cos y - 1 \rightarrow \cos y \geq -1$$

$$\rightarrow D_f = (2k\pi - \frac{\pi}{2}, 2k\pi + \frac{\pi}{2})$$

$$e) \sqrt{\log \frac{x-1}{x+1}} \rightarrow \begin{cases} (i) : \log \frac{x-1}{x+1} \geq 0 \rightarrow \frac{x-1}{x+1} \geq 1 \rightarrow x \geq 1 \\ (ii) : \frac{x-1}{x+1} \geq 0 \rightarrow x \geq -1 \end{cases}$$

$$\frac{x-1}{x+1} \geq 0 \rightarrow \frac{-x}{x+1} \leq 0 \rightarrow x \geq -1$$

$$\rightarrow D_f = (-\infty, -1) \cup (1, +\infty)$$

$$(f) : \frac{x-1}{x+1} \geq \frac{-1}{1} \rightarrow (-\infty, -1) \cup (1, +\infty)$$

$$f(x) = \sqrt{(a+x)x^2 + ax + b} \rightarrow \begin{cases} a < 0: \text{parabola opening downwards} \\ a > 0: \text{parabola opening upwards} \end{cases}$$

$$\rightarrow -x^2 + b \geq 0 \rightarrow b \geq x^2$$

$$D_F = \mathbb{R} \setminus \{0\}$$

$$f(m) = \sqrt{m^2 + 2m + 2 - m^2} \rightarrow \Delta = 0 \quad \varepsilon - (\varepsilon + 1)(2 - m^2) = 0 \quad -9$$

$$\varepsilon - 1 + \varepsilon m^2 = 0 \rightarrow \varepsilon m^2 = 1 \rightarrow m = \pm 1 \rightarrow 1 - (-1) = 2$$

$$f(m) = \frac{\sqrt{2 - m^2}}{[m] + [-m] + 1} \quad \varepsilon - m^2 > 0 \rightarrow m^2 < \varepsilon \rightarrow -\sqrt{\varepsilon} < m < \sqrt{\varepsilon} \quad (1.)$$

$$[m] + [-m] + 1 \sim [m] + [-m] \neq -1 \rightarrow \mathbb{Z}$$

$$\xrightarrow{1 \rightarrow 0} D_F^{\text{diff}} \rightarrow \{-2, -1, 0, 1, 2\} \rightarrow \text{مجموعه}$$